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MATHEMATICAL

OPERATION

Practice
Sheet

1. Select the correct combination of mathematical signs to

sequentially replace the * signs and balance the given

equation.

xf.krh; fpÉksa ds ml lgh la;kstu dk p;u djsa] ftls fn, x, lehdj.k
esa · fpÉksa ds LFkku ij Øfed :i ls j[ks tkus ij lehdj.k larqfyr gks
tk,A
33 * 4 * 15 * 3 * 61 = 188

(a) + × ÷ – (b) × – ÷ +

(c) + – ÷ × (d) ÷ × – +

2. If + means -, - means ×, × means ÷, and ÷ means +,

what will be the value of the following expression?

;fn + dk vFkZ –, – dk vFkZ ×, × dk vFkZ ÷ vkSj ÷ dk vFkZ + gS] rks
fuEufyf[kr O;atd dk eku D;k gksxk\
45 × 9 ÷ 12 – 5 + 3

(a) 62 (b) 27

(c) 36 (d) 21

3. If ÷ means -, - means ×, × means +, + means ÷, what will

come in place of the question mark (?)?

;fn ÷ dk – vFkZ gS] - dk vFkZ × gS] × dk vFkZ + gS] + dk vFkZ ÷  gS]
rks iz'u&fpUg~ (?) ds LFkku ij D;k vk,xk\
77 ÷ 7 × 17 – 49 + 7 = ?

(a) 169 (b) 145

(c) 119 (d) 189

4. Select the correct combination of mathematical signs to

sequentially replace the * signs and balance the given

equation.

xf.krh; fpUgksa ds ml lgh la;kstu dk p;u djsa] ftls fn, x, lehdj.k
esa * fpUgksa ds LFkku ij Øfed :i ls j[ks tkus ij lehdj.k larqfyr gks
tk,A
268 * 4 * 8 * 5 * 14 = 41

(a) ÷ × + - (b) ÷ - × +

(c) + × - ÷ (d) × ÷ + -

5. Select the correct combination of mathematical signs to

sequentially replace the * signs and balance the given

equation.

xf.krh; fpUgksa ds ml lgh la;kstu dk p;u djsa] ftls fn, x, lehdj.k
esa * fpUgksa ds LFkku ij Øfed :i ls j[ks tkus ij lehdj.k larqfyr gks tk,A
11 * 7 * 345 * 5 * 31 = 115

(a) + × ÷ - (b) × + ÷ -

(c) ÷ × + - (d) ÷ - + ×

6. After interchanging the given two numbers and two signs
what will be the values of equation (I) and (II) respectively?

× and +, 3 and 9

nh xbZ la[;kvksa rFkk nks fpÉksa dks vkil esa ijLij cnyus ds i'pkr~
Øe'k% lehdj.k (I) rFkk (II) ds eku D;k gksaxs\

× rFkk +, 3 rFkk 9

I. 7 × 9 – 8 ÷ 2 + 3

II. 4 × 9 – 3 + 8 ÷ 2

(a) 0, 1 (b) – 26, – 29

(c) 6, 0 (d) 12, 13

7. Select the correct combination of mathematical signs to
replace the * signs and balance the given equation.

fodYiksa esa ls xf.krh; fpÉksa ds ml lgh la;kstu dk p;u dhft, ftls
uhps fn, x, lehdj.k esa · fpÉksa ds LFkku ij j[kus ls lehdj.k larqfyr
gks tk,xk\
21 * 4 * 156 * 13 * 11 = 83

(a)  –, ÷, ×, + (b) ×, +, ÷, –

(c) ×, –, ÷, + (d) +, ÷, –, ×

8. Select the correct combination of mathematical signs to
sequentially replace the * signs and to balance the given
equation.

fodYiksa esa ls xf.krh; fpÉksa ds ml lgh la;kstu dk p;u dhft, ftls
uhps fn, x, lehdj.k esa · fpÉksa ds LFkku ij j[kus ls lehdj.k larqfyr
gks tk,xk\
12 * 24 * 4 * 2 * 60

(a) +, ×, ÷, = (b) –, ×, +, =

(c) +, ×, –, = (d) +, ÷, ×, =

9. If ‘+’ means ‘÷’, ‘ – ’ means ‘+’, ‘×’ means ‘ – ’ and ‘÷’
means ‘×’, what will be the value of the following
expression?

;fn ‘+’ dk vFkZ ‘÷’, ‘ – ’ dk vFkZ ‘+’, ‘×’ dk vFkZ ‘ – ’ vkSj ‘÷’ dk vFkZ
‘×’ gS] rks fuEufyf[kr O;atd dk eku D;k gksxk\
[{(38 × 23) - (4 ÷ 3)} + (6 - 3)] ÷ 2

CGL Tier-1, 01/12/2022 (Shift-II)

(a) 6 (b) 3

(c) 8 (d) 12

10. By Interchanging the given two numbers which of the
following equation will be not correct?

3 and 8

nh xbZ la[;kvksa dks vkil esa ijLij cnyus ij fuEufyf[kr esa ls dkSu&lk
lehdj.k lgh ugha gksxk\

3 vkSj 8
(a) 7 + 3 – 4 ÷ 2 × 8 = 9 (b) 6 ÷ 2 × 8 + 3 – 1 = 17

(c) 8 – 3 + 6 × 2 ÷ 4 = –2 (d) 2 + 3 – 6 ÷ 2 × 8 = 1

11. By interchanging the given two signs which of the
following equation will be correct?

÷ and +

fn, x, nks fpÉksa dks vkil esa ijLij cnyus ij fuEufyf[kr esa ls
dkSu&lk lehdj.k lgh gksxk\

÷ vkSj +
(a) 8 + 4 × 5 ÷ 2 – 6 = 7

(b) 16 + 8 × 2 ÷ 6 – 4 = 8

(c) 18 + 2 × 6 ÷ 3 – 7 = 50

(d) 11 + 8 × 16 ÷ 4 – 7 = 20



Rea
so

nin
g

by

Vi
kra

m
je
et

 s
ir

Youtube-Rankers' Gurukul  2Join Telegram Group- RG VIKRAMJEET

12. Which two numbers, from amongst the given options,
would be interchanged to make the given equation
correct?

fuEufyf[kr lehdj.k dks larqfyr djus ds fy, fodYiksa esa nh xbZ fdu
nks la[;kvksa dks ijLij cnyuk gksxk\

63 ÷ 12 +  81 × 4 
   – (28 ÷2) +24 = 43

(a) 12 and 24 (b) 6 and 24

(c) 81 and 4 (d) 28 and 24

13. By interchanging the given two signs and numbers which
of the following equation will be correct?

× and ÷, 7 and 9

fn;s x, nks fpÉksa rFkk la[;kvksa dks vkil esa ijLij cnyus ij fuEufyf[kr
esa ls dkSu&lk lehdj.k lgh gks tk,xk\

× rFkk ÷, 7 rFkk 9
(a) 9 – 7 × 2 + 6 ÷ 3 = 11 (b) 9 + 4 × 3 – 7 ÷ 1 = 40

(c) 8 × 3 ÷ 6 + 9 – 7 = 14 (d) 9 × 3 + 4 ÷ 2 – 7 = 18

14. Select the correct combination of mathematical signs to
sequentially replace the * signs and balance the given
equation.

xf.krh; fpÉksa ds ml lgh la;kstu dk p;u djsa ftUgsa · fpÉksa ds LFkku
ij Øfed :i ls j[ks tkus ij fn;k x;k lehdj.k larqfyr gks tk,xk\
65 * 45 * 25 * 5 * 35 * 60

(a) –, +, –, +, = (b) +, ×, +, –, =

(c) +, –, +, –, = (d) –, +, ÷, +, =

15. After interchanging the given two numbers and two signs
what will be the values of equation (I) and (II) respectively?

+ and ×, 5 and 4

nh xbZ la[;kvksa rFkk nks fpÉksa dks vkil esa ijLij cnyus ds i'pkr~
Øe'k% lehdj.k (I) rFkk (II) ds eku D;k gksaxs\
+ rFkk ×, 5 rFkk 4
I. 4 + 6 × 5 – 7 ÷ 1

II. 5 × 3 – 4 + 8 ÷ 2

(a)  –9, –8 (b) 30, –13

(c) 20, 6 (d) 27, –13

16. Select the correct combination of mathematical signs to
sequentially replace the * signs and balance the given
equation.

xf.krh; fpÉksa ds ml lgh la;kstu dk p;u djsa ftUgsa · fpÉksa ds LFkku
ij Øfed :i ls j[ks tkus ij fn;k x;k lehdj.k larqfyr gks tk,xk\
99 * 33 * 66 * 22 * 44 * 50

(a) ÷, +, ×, +, = (b) +, -, ÷, -, =

(c) ÷, +, ÷, +, = (d) ÷, -, +, ×, =

17. Select the correct combination of mathematical signs to
sequentially replace the * signs and to balance the given
equation.

xf.krh; fpÉksa ds ml lgh la;kstu dk p;u djsa ftUgsa · fpÉksa ds LFkku
ij Øfed :i ls j[ks tkus ij fn;k x;k lehdj.k larqfyr gks tk,xk\
25 * 5 * 10 * 2 * 13

(a) ÷, ×, –, = (b) ÷, –, +, =

(c) ×, +, –, = (d) ÷, +, –, =

18. By interchanging the given two signs which of the
following equation will be not correct?

– and ÷

fn, x, nks fpÉksa dks vkil esa ijLij cnyus ij fuEufyf[kr esa ls
dkSu&lk lehdj.k lgh ugha gksxk\

– rFkk ÷
(a) 20 × 8 – 4 ÷ 2 + 7 = 50

(b) 35 – 5 + 8 ÷ 4 × 3 = 3

(c) 10 + 8 × 6 – 4 ÷ 2 = 20

(d) 12 – 4 + 11 × 3 ÷ 8 = 28

19. By Interchanging the given two numbers which of the
following equation will be not correct?

5 and 9

fn, x, nks fpÉksa dks vkil esa ijLij cnyus ij fuEufyf[kr esa ls
dkSu&lk lehdj.k lgh ugha gksxk\

5 rFkk 9
(a) 9 × 4 + 5 – 8 ÷ 2 = 25 (b) 9 – 5 × 4 + 6 ÷ 3 = –30

(c) 9 + 7 × 8 ÷ 4 – 5 = 10 (d) 9 – 4 × 5 + 6 ÷ 2 = –28

20. Which two signs and two numbers should be
interchanged in the following equation to make it correct?

fn, x, lehdj.k dks larqfyr djus ds fy, fdu&nks la[;kvksa vkSj fdu
nks fpÉksa dks ijLij cnyuk gksxk\
14 × 6 ÷ 12 + 15 - 9 = 203

(a) 15 , 6 , + , ÷ (b) 12 , 15 , – , ×

(c) 12 , 9 , ÷ , – (d) 14 , 6 , ÷ , ×

21. By interchanging the given two signs and numbers which
of the following equation will be correct?

+ and ×, 1 and 2

fn, x, nks fpÉksa rFkk la[;kvksa dks vkil esa ijLij cnyus ij fuEufyf[kr
esa ls dkSu&lk lehdj.k lgh gks tk,xk\

+ rFkk ×, 1 rFkk 2
(a) 8 × 3 – 4 ÷ 2 + 1 = 7 (b) 2 × 3 – 8 ÷ 1 + 9 = 18

(c) 8 × 3 – 4 ÷ 2 + 1 = 3 (d) 2 × 3 – 8 ÷ 1 + 2 = 5

22. Select the correct combination of mathematical signs to
replace the * signs and balance the given equation.

fodYiksa esa ls xf.krh; fpÉksa ds ml lgh la;kstu dk p;u dhft, ftls
uhps fn, x, lehdj.k esa · fpÉksa ds LFkku ij j[kus ls lehdj.k larqfyr
gks tk,xk\
66 * 6 * 12 * 3 * 15 = 12

(a) ÷, –, ×, + (b) +, –, ÷, ×

(c) ÷, ×, +, – (d) ×, –, ÷, +

23. Which two numbers, from amongst the given options,
should be interchanged to make the given equation
correct?

fuEufyf[kr lehdj.k dks larqfyr djus ds fy, fodYiksa esa nh xbZ fdu
nks la[;kvksa dks ijLij cnyuk gksxk\

54 – (3 × 12) ÷ 
1

3(8)  + (11 × 4) + 6 = 69

(a) 11 and 6 (b) 4 and 12

(c) 6 and 4 (d) 3 and 4

24. By interchanging the given two signs and numbers which
of the following equation will be not correct?

fn, x, nks fpÉksa rFkk la[;kvksa dks ijLij cnyus ij fuEufyf[kr esa ls
dkSu&lk lehdj.k lgh ugha gksxk\
× and ÷, 2 and 6

I. 7 – 4 × 3 ÷ 6 + 2 = 8

II. 6 – 8 × 2 + 9 ÷ 3 = 5

(a) dsoy  II (b) u rks I u gh II

(c) dsoy I (d) nksuksa I vkSj II
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25. After interchanging the given two numbers and two signs
what will be the values of equation (I) and (II) respectively?

– and ×, 6 and 4

nh xbZ la[;kvksa rFkk nks fpÉksa dks vkil esa ijLij cnyus ds i'pkr~
Øe'k% lehdj.k (I) rFkk (II) ds eku D;k gksaxs\

– rFkk ×, 6 rFkk 4
I. 7 × 6 + 8 ÷ 2 – 4

II. 4 – 7 × 6 + 8 ÷ 2

(a)  27, 42 (b) 27, 47

(c) 27, 49 (d) 25, 40

26. Which two numbers, from amongst the given options,
should be interchanged to make the given equation
correct?

fuEufyf[kr lehdj.k dks larqfyr djus ds fy, fodYiksa esa nh xbZ fdu
nks la[;kvksa dks ijLij cnyuk gksxk\

(6)2 – 20 + (28 ÷ 7) –  4 × 8 
   + (2)2 = 40

(a) 6 and 8 (b) 7 and 2

(c) 2 and 8 (d) 20 and 8

27. By Interchanging the given two numbers which of the
following equation will be correct?

7 and 4

nh xbZ la[;kvksa dks vkil esa ijLij cnyus ij fuEufyf[kr esa ls dkSu&lk
lehdj.k lgh gksxk\

7 rFkk 4
(a) 4 – 7 + 6 ÷ 2 × 3 = 12 (b) 4 × 3 + 7 – 9 ÷ 3 = 20

(c) 7 + 4 × 2 – 6 ÷ 2 = 17 (d) 7 + 5 × 2 – 4 ÷ 1 = 9

28. Which two numbers, from amongst the given options,

should be interchanged to make the given equation

correct?

fuEufyf[kr lehdj.k dks larqfyr djus ds fy, fodYiksa esa nh xbZ fdu
nks la[;kvksa dks ijLij cnyuk gksxk\

72 + ( 7 × 8 ) – ( 126 ÷ 14 ) – ( 4 )2  = 150

(a) 72 and 126 (b) 7 and 4

(c) 8 and 4 (d) 14 and 7

29. By interchanging the given two signs and numbers which

of the following equation will be correct?

÷ and ×, 1 and 3

fn, x, fpÉksa dks ijLij cnyus ij] fuEufyf[kr esa ls dkSu&lk lehdj.k
lgh gksxk\

÷ vkSj ×, 1 vkSj 3
(a) 6 ÷ 3 – 1 + 4 × 2 = 5 (b) 4 × 3 – 1 + 8 ÷ 2 = 9

(c) 5 – 8 × 3 + 9 ÷ 1 = 24 (d) 6 + 4 – 9 × 3 ÷ 1 = –17

30. If ‘+’ means ‘÷’, ‘ – ’ means ‘+’, ‘×’ means ‘ – ’ and ‘÷’
means ‘×’, what will be the value of the following
expression?

;fn ‘+’ dk vFkZ ‘÷’, ‘ – ’ dk vFkZ ‘+’, ‘×’ dk vFkZ ‘ – ’ vkSj ‘÷’ dk vFkZ
‘×’ gS] rks fuEufyf[kr O;atd dk eku D;k gksxk\
[{(32 × 20) – (2 ÷ 3)} + (2 – 4)] ÷ 3

(a) 8 (b) 10

(c) 9 (d) 6

31. By Interchanging the given two numbers which of the
following equation will be correct?

1 and 7

fn, x, nks la[;kvksa dks vkil esa ijLij cnyus ij fuEufyf[kr esa ls
dkSu&lk lehdj.k lgh gksxk\

1 rFkk 7
(a) 7 × 2 + 1 – 5 = 6 (b) 1 × 2 – 7 + 8 ÷ 2 = 16

(c) 7 + 1 × 2 – 6 ÷ 3 = 13 (d) 7 + 6 ÷ 3 – 5 × 1 = – 10

32. Select the correct combination of mathematical signs to

sequentially replace the * signs and to balance the given

equation.

xf.krh; fpÉksa ds ml lgh la;kstu dk p;u djsa ftls Øfed :i ls ·
fpÉksa ds LFkku ij j[kus ij fn;k x;k lehdj.k larqfyr gks tk,xkA

25 * 2 * 220 * 11 * 43

(a) +, –, ×, = (b) +, –, ÷, =

(c) +, +, ÷, = (d) –, +, ÷, =

33. Select the correct combination of mathematical signs to

sequentially replace the # signs and to balance the given

equation.

fn, x, lehdj.k esa # fpÉksa dks Øfed :i ls cnyus vkSj lehj.k dks
larqfyr djus ds fy, fuEufyf[kr fodYiksa esa ls xf.krh; fpÉksa ds lgh
la;kstu dk p;u dhft,A

[{(44 # 38) # (2 # 5)} # (4 # 2)] # 5 # 10

(a) ×, ÷, ×, ×, -, +, = (b) ×, – , +, ×, ÷, ×, =

(c) – , +, ×, ×, ÷, ×, = (d) – , +, ×, ÷, ×, ×, =

34. By interchanging the given two signs and numbers which

of the following equation will be correct?

+ and –, 7 and 6

fn, x, nks fpÉksa vkSj la[;kvksa dks vkil esa ijLij cnyus ij fuEufyf[kr
esa ls dkSu&lk lehdj.k lgh gksxk\

+ rFkk –, 7 rFkk 6
(a) 4 × 7 + 6 – 3 ÷ 1 = 20 (b) 8 × 7 + 5 ÷ 1 – 6 = 17

(c) 7 – 6 × 3 + 4 ÷ 1 = 8 (d) 7 × 2 – 6 + 4 ÷ 2 = 13

35. Which of the following interchanges of numbers would

make the given equation correct?

fn, x, lehdj.k dks larqfyr djus ds fy, fuEu esa ls fdu nks la[;kvksa
dks ijLij cnyuk gksxk\

7 × 4 ÷ 14 + 12 + 30 = 50

(a) 12, 14 (b) 7, 14

(c) 4, 7 (d) 30, 50

36. By interchanging the given two signs which of the

following equation will be correct?

+ and ×

fn, x, nks fpÉksa dks vkil esa ijLij cnyus ij fuEufyf[kr esa ls
dkSu&lk lehdj.k lgh gksxk\

+ rFkk ×
CGL Tier-1, 07/12/2022 (Shift-I)

(a) 7 + 5 × 2 – 8 ÷ 4 = 36 (b) 95 ÷ 19 + 5 × 3 – 6 = 22

(c) 13 + 4 × 5 – 6 ÷ 2 = 51 (d) 4 × 3 + 6 – 7 ÷ 1 = 18

37. By interchanging the given two signs and numbers which

of the following equation will be not correct?

+ and ×, 5 and 4

nh xbZ nks la[;kvksa rFkk nks fpÉksa dks vkil esa ijLij cnyus ds i'pkr~
Øe'k% fuEu esa ls dkSu&lk lehdj.k lgh ugha gksxk\

+ rFkk ×, 5 rFkk 4
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I. 4 + 8 × 5 – 7 ÷ 1 = 37

II. 5 × 3 – 4 + 6 ÷ 2 = –8

(a) Only II/ dsoy  II

(b) Neither I nor II / u rks I u gh II

(c) Only I / dsoy  I

(d) Both I and II / I vkSj II nksuksa

38. Which two signs and two numbers should be
interchanged in the following equation to make it correct?

fn, x, lehdj.k dks larqfyr djus ds fy, fdu nks la[;kvksa vkSj fdu
nks fpÉksa dks ijLij cnyuk gksxk\
60 × 3 + 660 ÷ 6 – 20 = 290

(a)  6 and 660, × and ÷ (b) 20 and 6, + and –

(c) 20 and 60, + and × (d) 20 and 660, + and ÷

39. Which two signs should be interchanged to make the
given equation correct?

fn, x, lehdj.k dks larqfyr djus ds fy, fdu nks fpÉksa dks ijLij
cnyuk gksxk\
81 + 3 ÷ 9 × 5 – 12 = 60

(a) ÷ and + (b) + and ×

(c) ÷ and – (d) + and –

40. By Interchanging the given two numbers which of the
following equation will be correct?

8 and 2

fdu nks la[;kvksa dks ijLij cnyus ls fn;k x;k lehdj.k lgh gks
tk,xk\

8 rFkk 2
(a) 7 ÷ 2 – 8 × 4 + 1 = 0 (b) 2 × 4 – 8 + 5 ÷ 1 = 50

(c) 8 × 4 + 6 – 2 ÷ 1 = 6 (d) 8 × 4 – 9 ÷ 3 + 2 = 3

41. Which two numbers, from amongst the given options,
should be interchanged to make the given equation
correct?

fuEufyf[kr lehdj.k dks larqfyr djus ds fy, fodYiksa esa nh xbZ fdu
nks la[;kvksa dks ijLij cnyuk gksxk\

18 + (12 × 6) + (63 ÷ 7) × 4 + 
1

3(27)  – 11 = 112

(a) 18 and 11 / 18 vkSj 11 (b) 12 and 4 / 12 vkSj 4

(c) 6 and 4 / 6 vkSj 4 (d) 18 and 12 / 18 vkSj 12

42. By Interchanging the given two numbers which of the
following equation will be correct?

5 and 9

nh xbZ nks la[;kvksa dks vkil esa ijLij cnyus ij fuEufyf[kr esa ls
dkSu&lk lehdj.k lgh gksxk\

5 rFkk 9
(a) 9 – 5 × 4 + 6 ÷ 3 = 30 (b) 9 × 3 + 5 ÷ 1 – 6 = 20

(c) 7 × 9 + 5 – 8 ÷ 4 = 40 (d) 9 × 4 + 5 – 8 ÷ 2 = 25

43. By interchanging the given two signs and numbers which
of the following equation will be correct?

+ and –, 6 and 3

fn;s x, nks fpÉksa rFkk la[;kvksa dks vkil esa ijLij cnyus ij] fuEufyf[kr
esa ls dkSu&lk lehdj.k lgh gks tk,xk\

+ rFkk –, 6 rFkk 3
(a) 8 – 3 × 4 ÷ 6 + 9 = 18 (b) 8 + 4 × 6 ÷ 3 – 9 = 15

(c) 9 ÷ 3 × 4 – 6 + 7 = 10 (d) 6 ÷ 2 × 8 + 3 – 1 = 20

44. By Interchanging the given two numbers which of the
following equation will be correct?

4 and 6

nh xbZ nks la[;kvksa dks vkil esa ijLij cnyus ij fuEufyf[kr esa ls
dkSu&lk lehdj.k lgh gksxk\

4 vkSj 6
(a) 4 ÷ 2 + 3 – 6 × 5 = –14 (b) 9 ÷ 3 + 6 × 5 – 4 = 18

(c) 4 × 3 + 6 – 2 ÷ 1 = 21 (d) 4 – 6 ÷ 2 + 3 × 5 = 20

45. Select the correct combination of mathematical signs to
sequentially replace the * signs and to balance the given
equation.

xf.krh; fpÉksa ds ml lgh la;kstu dk p;u djsa ftls Øfed :i ls ·
fpÉksa ds LFkku ij j[kus ij fn;k x;k lehdj.k larqfyr gks tk,xkA

50 * 10 * 20 * 5 * 105

(a) ÷, ×, +, = (b) ×, –, +, =

(c) ÷, ×, –, = (d) ×, ÷, +, =

46. Which of the following interchange of numbers and
mathematical signs would make the given equation
correct?

fn, x, lehdj.k dks larqfyr djus ds fy, fdu nks la[;kvksa vkSj fdu
nks fpÉksa dks ijLij cnyuk gksxk\
28 + 7 × 10 ÷ 5 - 20 = 5

(a) 10 and 20, × and + (b) 5 and 20, - and ÷

(c) 7 and 28, × and ÷ (d) 5 and 10, + and ÷

47. Which two numbers from amongst the given options
should be interchanged to make the given equation
correct?

fn;s x;s lehdj.k dks larqfyr djus ds fy, fodYiksa esa fn, x, fdu nks
la[;kvksa dks ijLij cnyuk gksxk\
168 ÷ 4 + 216 ÷ ( 78 × 1 – 8) = 14

(a) 78 and 216 (b) 14 and 8

(c) 78 and 14 (d) 216 and 168

48. Select the correct combination of mathematical signs to
sequentially replace the & signs, and to balance the given
equation.

fn, x, lehdj.k dks larqfyr djus ds fy, vkSj ladsrksa dks Øfed :i
ls cnyus ds fy, xf.krh; fpÉksa ds lgh la;kstu dk p;u djsaA
[{(42 & 26) & (12 & 2)} & (4 & 5)] & 5 & 10

(a) ×, ÷, ×, ×, -, +, =

(b) ×, -, +, ×, ÷, ×, =

(c) –, +, ×, ×, ÷, ×, =

(d) –, +, ×, ÷, ×, ×, =

49. If ‘@’ means ‘addition’, ‘%’ means ‘multiplication’, ‘$’
means ‘division’ and ‘#’ means ‘subtraction’, then find
the value of the following expression.

;fn ‘@’ dk vFkZ ^tksM+* gS] ‘%’ dk vFkZ ^xq.k* gS] ‘$’ dk vFkZ ^Hkkx* gS
vkSj ‘#’ dk vFkZ ̂ ?kVkuk* gS] rks fuEufyf[kr O;atd dk eku Kkr dhft,A
29 @ 128 $ 16 % 7 # 22

(a) 47 (b) 63

(c) 58 (d) 23

50. Which two digits should be interchanged to make the given
equation correct?

fn, x, lehdj.k dks larqfyr djus ds fy, nks vadksa dks vkil eas cnyk
tkuk pkfg,\
384 ÷ 16 – 72 + 9 × 10 = 2
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(a) 4 and 8 (b) 7 and 9

(c) 6 and 9 (d) 3 and 7

51. Which two numbers and which two signs should be
interchanged to balance the following equation?

fuEUkfyf[kr lehdj.k dks larqfyr djus ds fy, fdu nks la[;kvksa dks
vkil esa vkSj fdu nks fpUgksa dks vkil eas cnyk tkuk pkfg,\
24 ÷ 16 – 96 + 48 × 12 = 195

(a) 24 and 16, – and ÷ (b) 12 and 48, × and +

(c) 12 and 16, × and ÷ (d) 24 and 48, × and ÷

52. Which two signs should be interchanged to make the given
equation correct?

fn, x, lehdj.k dks lgh cukus ds fy, fdu nks fpUgksa dks vkil esa
cnyk tkuk pkfg,\
32 + 24 × 4 ÷ 16 – 64 = 90

(a) ÷ and + (b) ÷ and ×

(c) + and – (d) + and ×

53. If ‘A’ denotes ‘addition’, ‘B’ denotes ‘multiplication’, ‘C’
denotes ‘subtraction’ and ‘D’ denotes ‘division’, then what
will be the value of the following expression?

;fn ‘A’ dk vFkZ ^tksM+* gS] ‘B’ dk vFkZ ^xq.kk* gS] ‘C’ dk vFkZ ^?kVkuk*
gS vkSj ‘D’ dk vFkZ ̂ Hkkx* gS] rks fuEufyf[kr O;atd dk eku fdruk gksxk\
8 B (4 A 5) C (99 A 27) D 14 A 5 B (112 D 16)

(a) 107 (b) 98

(c) 85 (d) 116

54. Which two signs should be interchanged to make the given
equation correct?

fuEufyf[kr lehdj.k dks larqfyr djus ds fy, fdu nks fpUgksa dks vkil
eas cnyus dh vko';drk gS\
28 + 14 × 7 ÷ 5 – 18 = 20

(a) + and × (b) ÷ and +

(c) × and ÷ (d) ÷ and –

55. Which two signs need to be interchanged to make the following
equation correct?

fuEufyf[kr lehdj.k dks larqfyr djus ds fy, fdu nks fpÉksa dks vkil
eas cnyus dh vko';drk gS\
72 × 18 ÷ 9 + 19 – 39 = 16

(a) – and × (b) ÷ and ×

(c) + and × (d) – and +

56. Which two numbers need to be interchanged to make

the following equation correct?

fuEu lehdj.k dks larqfyr djus ds fy, fdu nks la[;kvksa dks vkil eas
cnyus dh vko';drk gS\

7 + 56 ÷ 8 × 2 – 13 = 11

(a) 7 and 8 (b) 7 and 2

(c) 8 and 2 (d) 7 and 13

57. Select the correct combination of Mathematical signs

that can sequentially replace the * signs and make the

given equation correct.

xf.krh; fpUgksa ds ml lgh la;kstu dk p;u djsa ftls fuEu lehdj.k
esa * fpUgksa ds LFkku ij Øfed :i ls j[kus ij lehdj.k larqfyr gks
tk,xkA
88 * 120 * 42 * 240 * 48 * 2

(a) +, ÷, –, =, ×

(b) ×, ÷, =, –, +

(c) =, –, +, ÷, ×

(d) =, ×, +, ÷, –

58. Select the correct combination of mathematical signs

that can sequentially replace the * signs and balance

the given equation.

xf.krh; fpUgksa ds ml lgh la;kstu dk p;u djsa tks fn, x, lehdj.k
esa * fpUgksa dks Øfed :Ik ls izfrLFkfir djds lehdj.k dks larqfyr dj
ldrk gSA
34 * 17 * 54 * 18 * 6 * 56

(a) ÷, –, ×, +, = (b) ÷, –, +, ×, =

(c) ×, +, ÷, –, = (d) +, ÷, ×, –, =

59. If the number 15 and 21 are interchanged, then which of

the following equations will be correctly balanced?

;fn la[;kvksa 15 vkSj 21 dks vkil eas cny fn;k tk,] rks fuEufyf[kr
esa ls dkSu&lk lehdj.k lgh <aax ls larqfyr gksxk\
(a) 62  ÷ 31 – 21 + 15 × 3 = 80

(b) 24  – 21 ÷ 3 + 15 – 7 = 23

(c) 26  + 21 × 15 ÷ 3 – 14 = 108

(d) 63  ÷ 15 + 21 × 5 – 4 = 74

60. If ‘@’ means ‘addition’ ‘%’ means ‘multiplication’, ‘$’

means ‘division’, and ‘#’ means ‘subtraction’, then find

the value of the following expression.

;fn ‘@’ dk vFkZ ^tksM+* gS] ‘%’ dk vFkZ ^xq.kk* gS] ‘$’ dk vFkZ ^Hkkx*

gS] vkSj ‘#’ dk vFkZ ^?kVkuk* gS] rks fuEufyf[kr O;atd dk eku Kkr

dhft,A
23 @ 105 $ 15 % 6 # 29

(a) 40 (b) 36

(c) 28 (d) 23

Answer-Key

1. (b) 2. (a) 3. (d) 4. (b) 5. (b) 6. (b) 7. (c) 8. (a) 9. (a) 10. (b)

11. (c) 12. (a) 13. (c) 14. (d) 15. (d) 16. (c) 17. (d) 18. (a) 19. (b) 20. (a)

21. (c) 22. (b) 23. (d) 24. (b) 25. (a) 26. (a) 27. (a) 28. (d) 29. (c) 30. (c)

31. (c) 32. (d) 33. (d) 34. (a) 35. (b) 36. (b) 37. (b) 38. (c) 39. (a) 40. (c)

41. (c) 42. (d) 43. (b) 44. (a) 45. (a) 46. (d) 47. (c) 48. (d) 49. (b) 50. (b)

51. ( c) 52. (c) 53. (b) 54. (c) 55. (b) 56. (a) 57. (c) 58. (b) 59. (d) 60. (b)


